[image: image1.png]In Display the data in a scatter plot. Then find the sample
correlation coefficient r. Determine whether there is a positive linear correlation,
anegative linear correlation, or no linear correlation between the variables. What
can you conclude?

The annual per capita sugar consumption (in kilograms) and the average
number of cavities of 11- and 12-year-old children in seven countries

Sugar consumption,x | 21 | 50 | 63 | 65 | 7.7 | 87 | 116
Cavities, y 059 | 1.51 | 1.55| 1.70 | 2.18 | 210 | 2.43





